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Run 5581 triggerwise, sums: All
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Eniriza: 10523

Maan: 15549.5425 <« 1269707

Sid Dwrw: 130353851 + BE.TE5S

200
l|::|IIII|IIII|IIII|IIII| IJ_J_LLllJ_IIIJ.ILlll
0 10000 20000 30000 40000 50000 60000 70000 80000
sum
Run 5581 triggerwise, sums: Beam ON, Laser ON
—— Helicity==0
— Helicity==1
Enirie=: 0

Mean: 00000 +- 0,000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000

Run 5581 triggerwise, sums: Beam OFF

Eniries: 0

Mean: 0.0000 +/- .000

Sid Drev: L0000 +- 0.0000

Run 5581 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




